
２３８ ÷ １０００ ＝

２３８ ÷ １００ ＝

（うすい文字は、しっかりなぞりましょう）

２３８ ÷ １０ ＝

0 1 0 7

２  ・２３８を　　　　　　　　 にすることを、式で表しましょう。

1 0 7
１０７ ÷ １０００ ＝

１０７ ÷ １００ ＝

1 0 7

1 0 7

日にち：　　　月　　　日

名まえ

1  ・１０７を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

１０７ ÷ １０ ＝ １０.７

⑤ 定着

５

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1



２３８ ÷ １０００ ＝ ０.２３８

２３８ ÷ １００ ＝ ２.３８

（うすい文字は、しっかりなぞりましょう）

２３８ ÷ １０ ＝ ２３.８

0 1 0 7

２  ・２３８を　　　　　　　　 にすることを、式で表しましょう。

1 0 7
１０７ ÷ １０００ ＝ ０.１０７

１０７ ÷ １００ ＝ １.０７

1 0 7

1 0 7

日にち：　　　月　　　日

名まえ

1  ・１０７を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

１０７ ÷ １０ ＝ １０.７

⑤ 定着 答え

５

.

10 ,
1

100 ,
1

1000

1

.

.

10

1

100

1

1000
1

10

1

10

1

10 ,
1

100 ,
1

1000

1


